Marked text




The safest form of birth control involves the use of barrier methods (condoms or diaphragms) in combination with spermicidal foams or jelly.  But 1 these methods also pose difficulties for women.  2 They are sometimes socially awkward to use.  3 Young women are discouraged from preparing for sexual activity that might never happen and are offered instead romantic models of spontaneous passion; few films or novels interrupt scenes of seduction for a partner to fetch contraceptives.  4 Many women find their male partners unwilling to use barrier methods of contraception, and they often find themselves in no position to insist.  Further,  5 cost is a limiting factor for many women.   6 Condoms and spermicides are expensive and are not covered under most health care plans.  Only one contraceptive option offers women safe and fully effective birth control: barrier methods with the backup option of abortion. (363).



Diagram






“But” tells me this is discounted.





Topic sentence





I plan to use this premise indicator to help me decide how to group the sentences.





I struck the last sentence.  It is not a restatement of anything, and has no connection to the argument  as either premise or as conclusion.  An acceptable alternative is to see it as the topic sentence, following from sentence 1.





Notice that sentence 6 actually is a premise for 5.  It would be defensible to diagram it that way (namely, 6(5), but I did not want to read an inference into the text that the author does not bother to indicate.  So I clumped them together.





I decided to put sentences 2, 3, and 4 in one box.  They should not be linked in different boxes (I’m just quibbling here), because sentences 3 and 4 are actually premises for sentence 2.  It would be defensible to diagram it that way (namely, as 3 ( 2 ( 4), but I did not want to read inferences into the text that the author does not bother to state.  It is simplest just to clump it in one box.





2 They are sometimes socially awkward to use.  3 Young women are discouraged from preparing for sexual activity that might never happen and are offered instead romantic models of spontaneous passion; few films or novels interrupt scenes of seduction for a partner to fetch contraceptives.  4 Many women find their male partners unwilling to use barrier methods of contraception, and they often find themselves in no position to insist.





5 Cost is a limiting factor for many women.   6 Condoms and spermicides are expensive and are not covered under most health care plans.





Notice how I added the stuff in square brackets to the conclusion to make it more informative.





1 These methods [the use of barrier methods (condoms or diaphragms) in combination with spermicidal foams or jelly] also pose difficulties for women.








